Lab 2: Neural Networks to learn XOR function

An improved neural net structure

input-to-hidden layer 1, two plus bias to four

[

[   bias                 input 1            input 2

[1.5521586141007635, 15.851287177854093, -17.050809896909261], 

[-36.318361637192822, 69.432600029628716, -50.177450290000003], 

[-72.456895516793679, 12.958491769468491, 91.693583783210528], 

[27.085610990767918, 146.82530837621553, 20.563366659115381]

],

input-to-hidden layer 2, four plus bias to three

[     bias             input from node 1   input from node 2    input from node 3

[3.1125754589724806, -15.128374741830159, 16.892748654298586, -0.26933796287221246, 

    input node 4 

-3.2862388547846724],

[1.1380828073093414, -18.750942432577865, -8.7773315137894574, 6.7368817745499454, -26.140983546636125],

[0.89592591409657996, 6.4576541116665416, -1.5557453640635075, -2.6692896189549558, 1.7834052225782779]

],

input-to-output, three plus bias to one

[

[5.6551823780603456, 14.068307514694428, -0.51894788492999344, -11.426131175080652]

]

]





General structure for this neural net:
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